	
	Problem 3-28 Schedule of Cost of Goods Manufactured; Overhead Analysis [LO3, LO5, LO6, LO7]
The Pacific Manufacturing Company operates a job-order costing system and applies overhead cost to jobs on the basis of direct labor cost. In computing an overhead rate for the year, the company's estimates were: manufacturing overhead cost, $126,000; and direct labor cost, $84,000. The company has provided the following data:
 
Beginning
Ending
Raw Materials
$
21,000
$
16,000
Work in Process
$
44,000
$
40,000
Finished Goods
$
68,000
$
60,000


The following actual costs were incurred during the year:
 
 
 
Purchase of raw materials (all direct)
$
133,000
Direct labor cost
$
80,000
Manufacturing overhead costs:
 
 
Insurance, factory
$
7,000
Depreciation of equipment
$
18,000
Indirect labor
$
42,000
Property taxes
$
9,000
Maintenance
$
11,000
Rent, building
$
36,000


Requirement 1:
(a)
Compute the predetermined overhead rate for the year. 
Predetermined overhead rate
____________
%


	
	(b)
Compute the amount of underapplied or overapplied overhead for the year. (Input all amounts as positive values. 
__________ overhead
$
____________


	
	Requirement 2:
Prepare a schedule of cost of goods manufactured for the year. 
 
 
 
 
 
Direct materials:
 
 
 
 
__________
$
____________
 
 
__________: __________
 
____________
 
 
Total raw materials available
 
____________
 
 
__________: __________
 
____________
 
 
Raw materials used in production
 
 
$
____________
__________
 
 
 
____________
__________
 
 
 
____________
Total manufacturing cost
 
 
 
____________
__________: __________
 
 
 
____________
 
 
 
 
____________
__________: __________
 
 
 
____________
Cost of goods manufactured
 
 
$
____________



	
	Requirement 3:
(a)
Compute the cost of goods sold for the year. (Do not include any underapplied or overapplied overhead in your cost of goods sold figure.) (Omit the "$" sign in your response.)
Cost of goods sold
$
____________


	
	(b)
Identify the options available for disposing of underapplied or overapplied overhead? (Select all that apply.)
(a)
Underapplied or overapplied overhead may be closed directly to Finished Goods
(b)
Underapplied or overapplied overhead may be allocated among Work in Process, Finished Goods, and Cost of Goods Sold in proportion to the overhead applied
(c)
Underapplied or overapplied overhead may be allocated between Work in Process and Cost of Goods Sold in proportion to the overhead applied
(d)
Underapplied or overapplied overhead may be closed directly to Cost of Goods Sold
(e)
Underapplied or overapplied overhead may be closed directly to Work in Process
(f)
Underapplied or overapplied overhead may be allocated between Work in Process and Finished Goods
(g)
Underapplied or overapplied overhead may be allocated between Finished Goods and Cost of Goods Sold in proportion to the overhead applied


	
	Requirement 4:
Job 137 was started and completed during the year. What price would have been charged to the customer if the job required $3,200 in materials and $4,200 in direct labor cost, and the company priced its jobs at 40% above the job's cost according to the accounting system? (Omit the "$" sign in your response.)
Price to customer
$
____________


	
	Requirement 5:
Direct labor made up $8,000 of the $40,000 ending Work in Process inventory balance. Supply the information missing below: (Omit the "$" sign in your response.) 
 
 
 
Direct materials
$
____________
Direct labor
 
8,000
Manufacturing overhead
 
____________
Work in process inventory
$
40,000
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	Exercise 3-5 Apply Overhead [LO5]
Westan Corporation uses a predetermined overhead rate of $23.10 per direct labor-hour. This predetermined rate was based on 12,000 estimated direct labor-hours and $277,200 of estimated total manufacturing overhead.
The company incurred actual total manufacturing overhead costs of $266,000 and 12,600 total direct labor-hours during the period.
Required:
Determine the amount of manufacturing overhead that would have been applied to units of product during the period. 
Manufacturing overhead applied
$
____________
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	Exercise 3-10 Journal Entries and T-Accounts [LO4, LO5, LO7]
Foley Company uses a job-order costing system. The following data relate to the month of October, the first month of the company's fiscal year:
a.
Raw materials purchased on account, $210,000.
b.
Raw materials issued to production, $190,000 (80% direct and 20% indirect).
c.
Direct labor cost incurred, $49,000; and indirect labor cost incurred, $21,000.
d.
Depreciation recorded on factory equipment, $105,000.
e.
Other manufacturing overhead costs incurred during October, $130,000 (credit Accounts Payable).
f.
The company applies manufacturing overhead cost to production on the basis of $4 per machine hour. There were 75,000 machine-hours recorded for October.
g.
Production orders costing $510,000 according to their job cost sheets were completed during October and transferred to Finished Goods.
h.
Production orders that had cost $450,000 to complete according to their job cost sheets were shipped to customers during the month. These goods were sold on account at 50% above cost.
Requirement 1:
Prepare journal entries to record the information given above. 
 
General Journal
Debit
Credit
a.
__________
____________
 
 
__________
 
____________
 
 
 
 
b.
__________
____________
 
 
__________
____________
 
 
__________
 
____________
 
 
 
 
c.
__________
____________
 
 
__________
____________
 
 
__________
 
____________
 
 
 
 
d.
__________
____________
 
 
__________
 
____________
 
 
 
 
e.
__________
____________
 
 
__________
 
____________
 
 
 
 
f.
__________
____________
 
 
__________
 
____________
 
 
 
 
g.
__________
____________
 
 
__________
 
____________
 
 
 
 
h.
__________
____________
 
 
__________
 
____________
 
 
 
 
 
__________
____________
 
 
__________
 
____________


Requirement 2:
Prepare T-accounts for Manufacturing Overhead and Work in Process. Post the relevant information above to each account. Compute the ending balance in each account, assuming that Work in Process has a beginning balance of $35,000. (Record the transactions in the given order
Manufacturing Overhead
__________
____________
__________
____________
__________
____________
 
 
__________
____________
 
 
__________
____________
 
 
 
 
End. Bal
____________
Work in Process
Beg. Bal
____________
__________
____________
__________
____________
 
 
__________
____________
 
 
__________
____________
 
 
End. Bal
____________
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	Problem 3-30 Comprehensive Problem: Journal Entries; T-Accounts; Financial Statements [LO3, LO4, LO5, LO6, LO7, LO8]
Southworth Company uses a job-order costing system and applies manufacturing overhead cost to jobs on the basis of the cost of direct materials used in production. At the beginning of the current year, the following estimates were made for the purpose of computing the predetermined overhead rate: manufacturing overhead cost, $246,400; and direct materials cost, $154,000. The following transactions took place during the year (all purchases and services were acquired on account):
a. 
Raw materials purchased, $141,900.
b. 
Raw materials requisitioned for use in production (all direct materials), $150,000.
c. 
Utility bills incurred in the factory, $21,200.
d. 
Costs for salaries and wages were incurred as follows:
 
 
 
Direct labor 
$
216,200
Indirect labor 
$
90,200
Selling and administrative salaries 
$
144,800


e.
Maintenance costs incurred in the factory, $15,100.
f.
Advertising costs incurred, $129,300.
g.
Depreciation recorded for the year, $49,800 (90% relates to factory assets, and the remainder relates to selling and administrative assets).
h.
Rental cost incurred on buildings, $89,800 (80% of the space is occupied by the factory, and 20% is occupied by sales and administration).
i.
Miscellaneous selling and administrative costs incurred, $17,200.
j.
Manufacturing overhead cost was applied to jobs, $     ?    .
k.
Cost of goods manufactured for the year, $590,500.
l.
Sales for the year (all on account) totaled $1,000,300. These goods cost $600,300 according to their job cost sheets.
The balances in the inventory accounts at the beginning of the year were as follows:
 
 
 
Raw materials
$
18,500
Work in process
$
24,300
Finished Goods
$
35,300


Requirement 1:
Prepare journal entries to record the above data. (Omit the "$" sign in your response.)
General Journal
Debit
Credit
a.
__________
____________
 
 
__________
 
____________
 
 
 
 
b.
__________
____________
 
 
__________
 
____________
 
 
 
 
c.
__________
____________
 
 
__________
 
____________
 
 
 
 
d.
__________
____________
 
 
__________
____________
 
 
__________
____________
 
 
__________
 
____________
 
 
 
 
e.
__________
____________
 
 
__________
 
____________
 
 
 
 
f.
__________
____________
 
 
__________
 
____________
 
 
 
 
g.
__________
____________
 
 
__________
____________
 
 
__________
 
____________
 
 
 
 
h.
__________
____________
 
 
__________
____________
 
 
__________
 
____________
 
 
 
 
i.
__________
____________
 
 
__________
 
____________
 
 
 
 
j.
__________
____________
 
 
__________
 
____________
 
 
 
 
k.
__________
____________
 
 
__________
 
____________
 
 
 
 
l.
__________
____________
 
 
__________
 
____________
 
__________
____________
 
 
__________
 
____________



	
	Requirement 2:
Post your entries to T-accounts. (Don't forget to enter the opening inventory balances above.) Determine the ending balances in the inventory accounts and in the Manufacturing Overhead account. (Record the transactions in the given order. Omit the "$" sign in your response.)
Accounts Receivable
__________
____________
 
 
Raw Materials
Bal.
____________
__________
____________
__________
____________
 
 
Bal.
____________
 
 
Work in Process
Bal.
____________
__________
____________
__________
____________
 
 
__________
____________
 
 
__________
____________
 
 
Bal.
____________
 
 
Finished Goods
Bal.
____________
__________
____________
__________
____________
 
 
Bal.
____________
 
 
Manufacturing Overhead
__________
____________
__________
____________
__________
____________
 
 
__________
____________
 
 
__________
____________
 
 
__________
____________
 
 
Bal.
____________
 
 
Accounts Payable
 
 
__________
____________
 
 
__________
____________
 
 
__________
____________
 
 
__________
____________
 
 
__________
____________
 
 
__________
____________
Accumulated Depreciation
 
 
__________
____________
Depreciation Expense
__________
____________
 
 
Salaries & Wages Payable
 
 
__________
____________
Salaries Expense
__________
____________
 
 
Miscellaneous Expense
__________
____________
 
 
Advertising Expense
__________
____________
 
 
Rent Expense
__________
____________
 
 
Cost of Goods Sold
__________
____________
 
 
Sales
 
 
__________
____________



	
	Requirement 3:
Prepare a schedule of cost of goods manufactured. (Omit the "$" sign in your response.)
Southworth Company
Schedule of Cost of Goods Manufactured
Direct materials:
 
 
 
 
__________
$
____________
 
 
__________
 
____________
 
 
__________
 
____________
 
 
__________
 
____________
 
 
Materials used in production
 
 
$
____________
__________
 
 
 
____________
__________
 
 
 
____________
Total manufacturing cost
 
 
 
____________
__________: __________
 
 
 
____________
 
 
 
 
____________
__________: __________
 
 
 
____________
Cost of goods manufactured
 
 
$
____________



	
	Requirement 4:
Prepare a journal entry to close any balance in the Manufacturing Overhead account to Cost of Goods Sold. Prepare a schedule of cost of goods sold. (Omit the "$" sign in your response.)
General Journal
Debit
Credit
__________
____________
 
__________
 
____________


Schedule of cost of goods sold
__________
$
____________
__________: __________
 
____________
__________
 
____________
__________
 
____________
__________
 
____________
__________
 
____________
Adjusted cost of goods sold
$
____________



	
	Requirement 5:
Prepare an income statement for the year. (Omit the "$" sign in your response.)
Southworth Company
Income Statement
__________
 
 
$
____________
__________
 
 
 
____________
__________
 
 
 
____________
Selling and administrative expenses:
 
 
 
 
__________
$
____________
 
 
__________
 
____________
 
 
__________
 
____________
 
 
__________
 
____________
 
 
__________
 
____________
 
____________
__________
 
 
$
____________



	
	Requirement 6:
Job 218 was one of the many jobs started and completed during the year. The job required $3,100 in direct materials and 440 hours of direct labor time at a rate of $12 per hour. If the job contained 500 units and the company billed at 75% above the unit product cost on the job cost sheet, what price per unit would have been charged to the customer? (Round your answer to 2 decimal places. Omit the "$" sign in your response.)
Price charged for Job 218
$
____________
per unit
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